Тест
«Сложение и вычитание десятичных дробей»

1. 23,14 + 2,2 =
а) 25,16  		б) 26,34	   в) 24,16		г) 25,34
2. 19,1 – 3,7 = 
а) 15,4		б) 16,4		   в) 15,17		г) 15,03
3.    16,1 + 13,14 =
а) 29,15		б) 28,15	   в) 29,24		г) 29,34
4.    3,4 + 6,17 =
а) 9,57		б) 9,111	   в) 9,21		г) 10,11
5. 7,18 – 3,019 =
а) 4,061 		б) 3,01	   	   в) 3,001		г) 4,001
6. 3,801 + 4,017 = 
а) 7,818		б) 7,098	   в) 7,98		г) 7,908
7.    7,8 + 31,16 =
а) 38,114		б) 38,96	   в) 38,24		г) 39,06
8.    311,7 + 4,08 = 
а) 315,15		б) 315,78	   в) 314,78		г) 315,708
9.    7,11 – 3,01 =
а) 4,01		б) 4	  	   в) 4,1			г) 3,99
10. 41,333 – 2,17 = 
а) 39,163		б) 39,316	   в) 39,16		г) 38,169

